Memory Based CUET General Test
Question Paper 2023

Q1. Match the following

A B

1. Jaipur (i). Orange City
2. Amritsar (ii). Blue City

3. Nagpur (iii). Golden City
4. Jodhpur (iv). Diamond City
5. Surat (v). Pink City

(@) 1-(ii),2-(iii),3-(v),4-(iv),5-(i)

(b) 1-(v),2-(ii),3- (iii),4- (1), 5- (iv)

(c) 1-(v),2-(iii),3-(i), 4 - (ii),5- (iv)

(d 1-(v),2-(v),3-(ii), 4- (i), 5 - (iii)

Q2. Match the following

Types of Vitamins Deficiency Diseases
1. Anaemia (i)C
2. Scurvy (i) D
3. Night blindness (iii) B12
4. Rickets (iv) A

(a) 1- (ii), 2 - (iv), 3 - (i), 4 - (iii)
(b) 1 - (iii), 2 - (i), 3 - (ii), 4 - (iv)
(c) 1-(iv), 2 - (iii), 3 - (i), 4 - (i)
(d) 1- (i), 2 - (1), 3 - (iv), 4 - (i)

Q3. Which of the following is NOT a state?
(a) Nagaland
(b) Sikkim
(c) Ladhak
(d) Manipur

Q4. Match the following
Author Book
1. Mahatma Gandhi (i) Discovery of India



2. Balraj Krishna (ii) Eternal India

3. Indira Gandhi (iii) India’s Bismarck

4. Jawahar Lal Nehru (iv) The story of my experience & truth.
(a) 1-(ii), 2 - (iv), 3 - (iii), 4 - (1)

(b)1-(iv), 2 - (iii), 3 - (ii), 4 - (i)

(c) 1-(iii), 2 - (ii), 3- (i), 4 - (iv)

(d) 1 - (ii), 2 - (i), 3 - (iv), 4 - (iii)

Q5. Match the following

Revolution Field
1. Green (i) Milk & Dairy
2. Blue (ii) Agriculture
3. White (iii) Jute
4. Golden (iv) Fish & Aqua

(a) 1- (ii), 2 - (iv), 3 - (i), 4 - (iii)
(b) 1 - (iv), 2 - (ii), 3 - (iv), 4 - (i)
(©) 1- (i), 2 - (iv), 3 - (ii), 4 - (iii)
(d) 1 - (iii), 2 - (i), 3 - (i), 4 - (iv)

Q6. Match the following

Movement year
1. Quit India 1922
2. Non Co-operation 1942
3. Civil Dis-obedience 1916
4. Home rule 1930

(@) 1-(i), 2 - (iv), 3 - (iii), 4 - (ii)
(b) 1 - (iv), 2 - (iii), 3 - (i), 4 - (i)
() 1-(ii), 2 - (i), 3 - (iv), 4 - (ii)
(d)1- (i), 2- (i), 3 - (iv), 4 - (iii)

Q7. Who authored the book name “Why the sky is blue”?
(a) Dr.C.V.Raman
(b) Dr. G. Homi Bhabha
(c) Dr.A.P.J Abdul Kalam
(d) None of the above

Q8. Which city in India is located at the bank of the river Yamuna?
(a) Agra
(b) Aligarh
(c) Delhi



(d) All of the above

Q9. Match the following

River City
1. Narmada (i) Erode
2. Mahanadi (ii) Guntur
3. Godavari (iii) Jabalpur
4. Kaveri (iv) Sabalpur

(a) 1 - (iii), 2 - (iv), 3 - (ii), 4 - ()
(b) 1 - (ii), 2 - (iii), 3 - (iv), 4 - (i)
(0) 1 - (iii), 2 - (i), 3 - (ii), 4 - (iv)
(d)1-(iv), 2 - (i), 3 - (ii), 4 - (iii)

Q10. Kanha National park is located in which state in India?
(a) Chhattisgarh
(b) Odisha
(c) Andhra Pradesh
(d) Madhya Pradesh

Q11. Who is the current chairperson of ISRO.
(a) KRanjan
(b) S Somanath
(c) B S Bommai
(d) None of these

Q12. Who was the founder of ISRO?
(a) J. H. Bhabha
(b) K. Ranjan
(c) Vikram Sarabhai
(d) Dr. A.P.J. Abdul Kalam

Q13. Which of the following countries were not part of the USSR?
(a) Russia
(b) Uzbegistan
(c) China
(d) Belarus

Q14. At which National Park were Cheetah brought from Africa?
(a) Khaziranga National Park
(b) Samlipal National Park



(c) Kanha National Park
(d) Baba Budan National Park

Q15. Which of the following is NOT a state?
(a) Tripura
(b) Arunachal Pradesh
(c) Jammu & Kashmir
(d) Meghalaya

Q16. The circumference of two circles are in the ratio 2:3. Find the ratio of their area.
(a) 4:3
(b) 3:4
(c) 1:2
(d) 2:1

Q17. The diagonal of the rhombus measures 16 cm and 30 cm. Find its perimeter.
(a) 34 cm
(b) 68 cm
(c) 45 cm
(d) 60 cm

Q18. In the given figure, find the measure of the interior £A.

A
%
50° \0s°
e c —
(a) 55°
(b) 65°
(c) 75°
(d) 105°

Q19. What is the series of 2, 4, 6, 32, ....
(a) 64
(b) 84
(c) 40



(d) 128

Q20. A, Band C can all together do a piece of work in 10 days, in which B takes three times
as long as A and C together do the work and C takes twice as long as A and B together take
to do the work. In how many boys B can alone do the work?

(a) 35 days

(b) 33 days

(c) 43 days

(d) 45 days

(e) 40 days

Q21. If the total ages of Igbal and Shikhar is 12 years more than the total age of Shikhar and
Charu. Charu is how many years younger than Igbal?

(a) 11 years

(b) 13 years

(c) 15 years

(d) None of the above

Q22. In what time will Rs. 72 become Rs. 81 at per annum simple interest?
(a) 2 years

(b) 3years

(c) 2 years 6 months

(d) None of these

Q23. The sum of the first n terms of the AP: 9, 17, 25, ... is 636? The value of n is
(a) 10
(b) 12
(c) 14
(d) 16

Q24.In which state did the sunderban National Park locate?
(a) West Bangal

(b) Tripura

(c) Odisha

(d) All of the above



Q25. Events year
1. Champaran Satyagraha (i) 1905
2. Ahamadabad Satyagraha (i) 1911
3. Partion of Bangal (i) 1917
4. Delhi Darbar (iv) 1918

@) 1 — (iv), 2 — (iii), 3 — (i), 4 — (ii)
(b) 1 — (i), 2 — (iv), 3 — (i), 4 — (i)
©) 1 - (iv), 2 - (i), 3 — (i), 4 — (iii)
(d) 1 — (iii), 2 - (iv), 3 — (i), 4 — (ii)

Q26. If 1st January 2005 was Friday then what was the day of the week was on 1st January 20077

(a) Friday
(b) Wednesday
(c) Sunda

y
(d) Tuesday
Q27.1f 22nd January 2011 was a Saturday, then what was the day of the week on 23rd January 2015?
(a) Saturday
(b) Frida

y

(c) Monda

y
(d) Sunday
Q28. In a code language, CIRCUS is written as DKUGZY. How will JOKER be written in the same
language?
(a) KQUIV
(b) KRNJW
(c) KQMJW
(d) KQNIW
Q29. What is the angle made by both hands of the clock when the time is 4:40 O’ clock.
(a) 90°
(b) 85"
(©) 75’
(d) 100°
Q30. What is the angle made by both hands of the clock when the time is 8:40 O’ clock.
(a) 30°
(b) 95"
(©) 75’

(d) 20°
Q31. What is the angle made by both hands of the clock when the time is 7:42 O’ clock.



(a) 21°
(b) 25"
(©) 75"
(d) 50°
Q32. What is the angle made by both hands of the clock when the time is 10:40 O’ clock.
(a) 90"
(b) 80°
(c) 75°
(d) 70°
Q33. Select the option that is related to the third letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster.
REST : SCTR:: BEST :?
(a) SBTR
(b) CCRT
(c) CCTR
(d) CDTR
Q34. Which latter will come last if arranged according to dictionary.
(a) Running
(b) Roasting
(c) Resting
(d) Rust
Q35. ‘Second’ is related to ‘Minute’ in the same way as ‘Day’ isrelatedto
(a) Dusk
(b) Dawn
(c) Week
(d) Night
Q36. Select the correct mirror of the given figure when the mirror is placed to the right side of the
figure.
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(d)
Q37.1If ‘" means ‘-, ‘+’ means ‘+’, ‘+’ means ‘x’ and ‘-’ means ‘+’, then what will be the value of the
following expression?

)’




16+32-4x2+1=7

(@) 7.5

(b) 32

(c) 22

(d) 10

Q38. Statements:

All cats are birds.

Some tigers are cats.

All bees are tigers.
Conclusions:

L. All bees are birds. 1.

[1. Some bees are birds. 2.

[1I. Some birds are tigers. II1.
IV.All tigers are birds. 4.

(2) Only conclusion IV follows
(b) Only conclusion II follows
(c) Only conclusion III follows
(d) Only conclusion I follows
Q39. Select the option in which the words share the same relationship as that shared by the given
pair of words.

Purification : Filter

(a) Digging : Spade

(b) Selling : Car

(c) Coloring : House

(d) Walking : Exercise

Q40. Select the number that can replace the question mark (?) in the following series.
7,8,12,39, 55,180, 216, ?

(a) 555

(b) 559

(c) 595

(d) 599

QA41. Statements:

All plants are herbs.

Some herbs are trees.

All trees are shrubs.
Conclusions:

[. Some shrubs are plants.

[I. Some shrubs are herbs.

[II. Some trees are plants.

(a) Only conclusions I and III follow
(b) Only conclusion II follows
(c) Only conclusions I and II follow
(d) Only conclusion I follows



Q42. Select the option figure in which the given figure is embedded.
(Rotation is not allowed)

ﬁl

(a).

(b)

(c) ﬂ

(d)

Q43.1In each question some statements followed by some conclusions. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts and then
decide which of the given conclusions logically follows from the given statements.

Statements:

(I) Some Doctors are Professors

(II) Some Professors are Authors

(IIT) All Authors are Teachers

(IV) No Doctor is Singer

Conclusion:

(I) Some Professors are Singers

(I1) Some Doctors are not Professors

(IIT) Some Singers are not Professors

(a) Only conclusion III follows

(b) Only conclusion II follows

(c) Both conclusion Il and III follows

(d) Either conclusion I follows or III follows

Q44.1In each question some statements followed by some conclusions. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts and then
decide which of the given conclusions logically follows from the given statements.

Statements:

All Sunday are Monday

Some Tuesday are Sunday

No Monday is Saturday



Conclusions:

[. Some Tuesday are not Monday
[1. All Tuesday are Monday

(a) Neither I nor II follows

(b) Either I or II follows

(c) Only I follows

(d) Both of them follows

Q45. There would be 10% loss if a toy is sold at Rs.10.80 per piece. At what price should it be sold to
earn a profit of 20%?

(a) Rs.12

(b)Rs.12.96

(c) Rs.14.40

(d) None of these

Q46. If x =L3y and y =-1 22, then x: y: z is equal to

(a) 3:2:1
(b)1:2:6
(c) 1:3:6
(d) 2:4:6
Q47. Which of the following fractions is the smallest?

@55

(b) 2

(c) &

(d) =

Q48.1n 4 years the simple interest on certain sum of money is_5, . of the principal. The annual of

interestis
(a) 4%

(b) 4(-’2-) %

(c) 9%

(d)10%

Q49. What will be the next number in the given series?
3,28,4,65,5,126,6, ......... ?
(a) 264

(b) 317

(c) 217

(d) 246

Q50.7% 0f 130=10.4

(a) 80

(b) 8



(c)0.8

(d)0.08

Q51.1f 15% of (A + B) = 25% of (A - B), then what percent of B is equal to A?
(a) 10%

(b) 60%

(c) 200%

(d)400%

Q52. Ratio of the principal and the amount after 1 year is 10:12. Then the rate of interest per annum
is:

(a) 12%

(b) 16%

(c) 18%

(d) 20%

Q53.M38348462N is the divisibility of 8or11. What is the value of M?+N?-18.
(@) 11

(b) 12

(c) 13

(d) 14

Q54. Out of 450 students of a school, 325 play football 175 play cricket and 50 neither play football
nor cricket. How many students play both football and cricket ?

(a) 100

(b) 300

(c) 400

(d) 500

Q55. In which year University Grant Commision was established?
(a) 1956

(b) 1958

(c) 1962

(d) 1953

Q56. Water metro is inaugrated in which state?

(a) Kerala

(b) West Bengal

(c) Goa

(d) Manipur

Q57. Neeraj Chopra won gold medal in which game recently?

(a) Diamond league

(b) Asian game

(c) ICC trophy

(d) None of the above

Q58. Who is the first Indian to win gold medal in Olynpic?

(a) Shania Mirza

(b) Saina Nehwal

(c) Abhinav Bindra

(d) Nove of the above



Q59. What is the full form of NITI Aayog?

(a) National Institue for Transforming Indian

(b) National Institue of Technical India

(c) National Institue for Transforming India

(d) None of the above

Q60. Rhino is natural habitate in which National Park in India?
(a) Kagiraga National Park

(b) Valmiki National Park

(c) Rajiv Gandhi National Park

(d) None of these

Solution:
S1. Ans. (c)
S2. Ans. (d)
S3. Ans. (c)
S4. Ans. (b)
S5. Ans. (a)
S6. Ans. (c)
S7. Ans. (a)
S8. Ans. (d)
S9. Ans. (a)
S10. Ans. (d)
S11. Ans. (b)
S12. Ans. (c)
S13. Ans. (c)
S14. Ans. (c)
S15. Ans. (c)
S16. Ans. (a)
S17. Ans. (b)
S18. Ans. (a)
S19. Ans. (a)
S20. Ans. (d)
S21. Ans. (d)

S22. Ans. (a)

S23. Ans. (b)
S24. Ans. (a)
S25. Ans. (d)
S26. Ans. (c)
S27. Ans. (a)



S28. Ans. (d)
S29. Ans. (d)
S30. Ans. (d)
S31. Ans. (a)
S32. Ans. (b)
S33. Ans. (¢)
S34. Ans. (d)
S35. Ans. (¢)
S36. Ans. (d)
S37. Ans. (c)
S38. Ans. (c)
S39. Ans. (a)
S40. Ans. (b)
S41. Ans. (b)
S42. Ans. (d)
S43. Ans. (d)
S44. Ans. (b)
§$45. Ans. (c)
$46. Ans. (c)
S47. Ans. (d)
$48. Ans. ()
$49. Ans. ()
S50. Ans. (b)
S51. Ans. (d)
$52. Ans. (d)
$53. Ans. (a)
S$54. Ans. (a)
S55. Ans. (a)
S56. Ans. (a)
S57. Ans. (a)
S58. Ans. (€)
S59. Ans. (c)
S60. Ans. (a)



